=1

Y

5]

Elenberg DVDP-2410

T
3

Cescrpfion

Qly

ltam

Cesaripton

Qty

power board

SCART autpu

WiGEA aulpul

HERERAERERE

M3 X 8 sorew

ra

J10len

M3 X 4 scraw

Bracke of Fonipana

Silica gel cushion

PO ER swicth

POWER bumian

doar of disc way

Migrar Shae

frant Er’l&l

3 X & siking

lunciang Bunons

LED PCB

digglay board

bt baard

A PWIAHNI

M3 X8 round-head sorew

P T-3APBH

decoder boand

JuoGPRAHMNE+

PT3 X 8 sorew

L]

G FhAHMI

raar pansl

JeAPWIAHN +

power caile

b e b

JuAP WIAHN

M3 X G soraw

=

== | P3| G| S| U0 | | el |02

COVER

[ 2

TRl BIRITAL ARis Fids ITiTIE

w otas fos

1 [xx oz —$—E—
o koo

%1 | #q1 % [mik]a

. |



Spare Parts List (DVDP-2410)

Part Ne
ftem Description QTY! Kon 34 1=Homep 34 1)
1 JCOVER 1 DVDP-2410-1
2 M3 X 6screw 10 DVDP-2410-2
3 |power cable | DVDP-2410-3
4 |rear panel 1 DvDP-2410-4
5 |PT3 X 8 screw 13 DVDP-2410-5
6 |decoder board 1 DVDP-2410-6
7 M3 X6 round-head screw 6 DV DP-2410-7
8 |bottom board 1 DV DP-2410-8
9 |display board 1 DV DP-2410-9
10 |LED PCB 1 DVDP-2410-10
11 |functional buttons 1 DVDP-2410-11
12 |M3 X 6sinking 2 DVDP-2410-12
13 |front panel 1 DVDP-2410-13
14 |Mirror Sheet 1 DVDP-2410-14
15 |door of disc ray | DVDP-2410-15
16 |POWER bution 1 DVDP-2410-16
17 |POWER swicth 1 DVDP-2410-17
18 |Silica gel cushion 2 DVDP-2410-18
19 [bracket of front panel 1 DVDP-2410-19
20 M3 X 4 screw 3 DVDP-2410-20
21 |310 len | KHM-313AAA
22 M3 X 8 screw 2 DVDP-2410-22
23 |VGA output 1 DWVDP-2410-23
24 |SCART ountput 1 DVDP-2410-24
25 |power board 1 DVDP-2410-25
1

Remote Control

DVDP-2410-26




VIEEKASDMA6-11.1
MT1389E DVD Damc Board for SONY KHM310 PUH
1 INDEX{ & POWER, RESET
* RF / BERVO - MTL3I3gE
i MPES - MTL3ITSE
4 MEMORY - EDRAM, FLAEH,EEPROM
E  AUIDIO - WeET4E, VIDES FILTER
[P TTrE BTl
Wi Digital &% SPFLY
OhW'dad Digital 1.0 s F R
EFwidi aeTro d. 4% L EER
Lo Mddad LaastT Dicds i.4%
i EF &Y FICEDP HERDES
Wi Digital .8 L EER
ik Digital 4.0 SEEM
#1IW adio +1IW OF EFF.
=02 Rlis -LIW OF EEP. El
BT Eelifo &Y deplife CT
=== Msdiic &Y Juglic DT

Eegl e - o]

[
i IECL * ¢
. e e

:' ™ = o % E
i [ s H'Illﬂll in ¥ T,
: - 0 sl ||
B +|! Pl rugad mer o eh SEE = —ew i
- - - RN _— i
= 1 A galany | 130 1% | G0 L% T S ‘

i wa ﬁ,‘ aadn|
oo - 5




!!!!!i!f!!! jl!f!!!.-i!f!!a i
R "-i'i'?'ﬁ',ﬂ!zi

ai'ii A dal 3§

e

|
T

Af”

R-‘ﬂﬂlq::::
e

'rr&r:t%ﬂﬂi!
LG L) bl

i -0

MT13B9D

¥I.7

iEEEey

A THE
1

bbb bhk bbb b prapik s R L
st R
H
Eiitimel

;u—m;tgg;nﬁﬂ{ :

i i 1

EasRmEsEEieE

R T e e e ﬂ

L&

i

T
lelelal=l= ==L

% } J e : T T -

oy L

BTy




B

g gE FE?E EEEEREEEEE

&

Ll

L T o n 2 | 70 s g
™ T‘ T

_knl _L“I. _.E"ﬁ

*ri;: '}ﬁu -rm T TEU '1E Tf

e
AP — &)

Poir
b ¥
Mhar

L CRal]

HEHERREYE

EEEEEEEE

s el
121
]
_OAD AT . . 98 DD 121
o T Ik 1 A | [ L.
o T
= hat _GIGRE AN o ke O3 DORE
- .
g SNILK AT 3% ook |
L} e [
te=
poil

*FEFF kEk kE
EERE T T

AL e
Al 1
— T oy s — = | -
e & e o
; At _n_._ﬂ'_. e
. T .
i e :
—E:E“-! i P ﬂ”: L ?ﬂ-h |
- 3 - ST
woe EE L e
8 e A% i
L] [ TN
A 10 . i% —nl_n— ﬂ T
- L ]
— oo yozo .
[itw e L= =] Le & E
L= n] 5R 2 " :
- @ - = L L
. - i = [ W
(-] WO = =
s D -
= = [== - u " P ]
T b e i
Lir it B P uw
Teame- Flmdat
COMMONDES_KHMI10_V3
; T H




L i i1
sl = LR | 141
g Hiate o jslw  jdn
I n | —_—f i 14
.'I‘l.n. 3 i_I'I'I.HI i — A 4
1 Waa A e [E
e s o 4 o £ i s il
[E1} "
il iy L e ": :
b == i) B
|i-"|-|.§ Ty 1 ) | ; WA L T
s = Emd - = T 1=l
| i % LT 18]
) e — A 151
'-\T“E |$-\.l &}}“mmp'
— [ :
Al T H
|i-|'|.3 1 Ly _1
A
=
Fean
i i
T.%
2 G
- o S = ooY =
Lmg | o ] - —HE o

s & 1 -

- L1

Ami
TIK

s ‘"":;

1
EH Al
Ami EEl]
kL
s ide
B . .

ongPagin
[STTI 7
— W : = [ P N = o —
g{ VIDEQ QUTPUT
mmum_m-uamﬁllw rr







) .JIII“ .I...- :
§ ) (T |

SAEF
'*Jiil._. [ —

.

VIRERBIOME-2ch—4.pcb — Mon Jon 17 14:54:039 2003



05
17 200
LuH'

14:5F

7
lon

Mon «

cn -

—4 .nc

I6—7¢ch
GOME

TERES0

'|‘|'| /




D402V1 SCH.sch-1 - Fri Jul 16 14:09:40 2004

k3
; o E : “ -E"
lEElJ i _E ] E

3
E
1
L

p e pRy [T,
Product Edltlon Protrect = Dote Audlting

Pepar Type

VTREK

Flie Moma fiwerel Foge Poapez




=

R | — -

___________
T F Y] A

=l
AL

[ ———— S

O | fieedih O | O cudtk O | O Jueudik O | O [upadih




e T o[
| Y j = e i
Lo L S
[ + L] 3.’:
e |
—nlhl;l' . B :!- :l
|| Ty
{k‘-‘iu i
s -
oo E'n




114mm

K-
REV:AL

K-
EEV:al




